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\begin{pspicture}(0,-1)(3,6)

\psset{unit=6,PHI=10}

\LineThreeD(0,0,0) (3,4,5)

\pNodeThreeD(3,4,5){XYZ}

% lattitude is the angle from the x-axis to the dashed

% line (0,0,0)(3,4,0) Theta = arcsin(4/5)

% longitude is the angle from the z-axis to the

% line (0,0,0)(3,4,z) Theta = arcsin(5/sqrt(50))

/)

\pNodeThreeD [SphericalCoor] (7.07,53.1,45){B}
\pNodeThreeD(3,0,0) {X}\pNodeThreeD(3,4,0) {XY}
\pspolygon*[linecolor=black!10] (0,0) (X) (XY)
\pNodeThreeD(0,0,5){Z}
\pspolygon*[linecolor=black!15] (0,0) (Z) (XYZ)

\psdot [dotscale=2.5] (XYZ) \psdot [dotscale=1.5,1inecolor=red] (B)
\AxesThreeD{->}(6)

{\psset{linestyle=dashed}

\LineThreeD(3,0,0) (3,4,0)\LineThreeD(0,4,0) (3,4,0)\LineThreeD(3,4,0) (3,4,5)
\LineThreeD(0,0,0)(3,4,0)}
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